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Major Paper XIII –– COST ACCOUNTING 
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             Max. Marks : 75

SECTION A — (10 × 2 = 20 marks)

Answer any TEN questions.
1. Define Cost Accounting. 

2. What is a Tender?

3. Give two objectives of Material Control.

4. What is time wage and piece wage?

5. What is Normal Idle time?

6. State the meaning of Absorption.

7. Ascertain the prime cost from the following:

Direct wages `25,000; Chargeable expenses `2,500; Opening stock of raw materials `5,000; Raw materials bought `30,000; Closing stock of raw materials `10,000; Raw materials returned to    supplier `750.
8. Find the EOQ from the following :

Monthly usage 150 units;  Buying cost `2 per order;  Cost per unit 0.32 paise and Storage cost 

25% p.a.

9. Calculate the issue price based on FIFO method 

Balance of material available 500 units @ `2   Purchased material 200 units @`3 

Issued 250 units 

10. Calculate Piece Wage and Time Wage of X for a day from the following:
X produces 200 units per day and the hourly rate is `30. He works for 8 hours a day. Rate per piece is `2.5. 

11. Calculate Overtime wages from the following information :

Normal working hours 8; Normal rate Re.1; Overtime rate upto 9 hours in a day at single rate and over 9 hours in a day double the rate; Hours worked 11 hours. 

12. Give the basis of apportionment for the following expenses :
Rent, Lighting, Indirect wages, Power, Depreciation of machines

Basis : HP of machines, Light points, Machine value, Floor area, Direct wages
SECTION B — (5 × 5 = 25 marks)
Answer any FIVE questions.

13. What are the different Cost concepts?

14. Prepare a Cost Sheet from the following details :

Raw materials opening stock `60,000; Raw materials purchased during the year `1,40,000;        Raw materials closing stock `40,000; Wages `40,000; Works expenses are charged at 100% of wages; Office overhead is charged at 25% on works cost and Selling overhead at 10% on works cost; Sales amounted to `3,60,000.
[image: image1]
15. From the following calculate i)
Re-order level 
ii)
Maximum level iii)

Minimum level.
Normal usage 150 units per day. Minimum usage 100 units per day. Maximum usage 200 units per day. Reorder period 50 to 60 days. The annual usage is 50,000 units. The cost of purchase is `100 per order. Cost per unit is Re.1. Carrying cost is 10% per annum.
16. S and Co. has purchased and issued material X as under :
 1998 May 1 Opening Stock 1,000 units at `5 per unit


     3 Purchased 250 units at `6 per unit


     5 Purchased 350 units at `6.5 per unit


    10 Issued 400 units 

   Show Stores Ledger when the issue is priced under HIFO.
17. Standard time allowed for a job is 100 hours. The hourly rate of wage is `4 per hour plus a Dearness allowance of `5.50 per hour worked. The actual time taken by the worker was 80 hours. Calculate total wages on  i) Time Rate basis ii) Halsey rate basis (50%)  and  iii) Rowan’s Bonus plan.

18. Write a note on ABC analysis.

19. From the following particulars calculate the Machine Hour Rate for a drilling machine:
Cost of the drilling machine `42,000;   Estimated scrap value `2,000;
Estimated working life   10 years of 2,000 hours each;   Running time for a 4 week period 150 hours Estimated repairs for life `10,000; Standing charges allocated to this machine for a week `300; Power consumed per hour 5 units @ 10 paise per unit.

SECTION C — (2 × 15 = 30 marks)
Answer any TWO questions.
20. How do you Classify Cost?

21. The following is the profit and loss account of X ltd.



Particulars






`



       Particulars
      
        








`

To Materials

      


30,000  



By Sales


     



 




1,00,000


To Wages

     



14,000  



By Closing stock

          
  




  8,000


To Factory expenses
    10,000  



By Profit on sale of machinery   


  2,000


To Administration exp.    8,000  



By Discount received
           



  5,000


To Selling expenses
       6,000


To Depreciation 
       

   2,000


To Net profit

     


 45,000





   






  _______


       













       _______



                



  1,15,000



        












   
1,15,000


The profit as per cost accounts was `37,000. You are required to prepare a reconciliation statement of the cost and financial profits using the following additional data:

i. Factory overhead in cost accounts is absorbed at 100% on wages.
ii. Closing stock is valued at `10,000 in costing.
iii. Administration and selling overheads were recovered at 5% and 7% on sales respectively.
iv. Depreciation was charged in costing at `3,000.
22. Prepare a stores ledger account and enter the following transactions by adopting the simple average method of pricing out issues:
Feb 2005 1 Opening balance    




50 units at `3 per unit


   



  5 Issued

  








20 units


   



  7 Purchased             



  

40 units at `4 per unit


    


  9 Issued
             






 25 units





   19 Purchased
  








 75 units at `5 per unit


  


   20 Issued

 








 15 units





   21 Received back      





 10 units out of Feb 9 issue


 


   26 Issued










 60 units 

23. Calculate the normal and overtime wages payable to a workman from the following data



Days               


        Hours worked


Monday                                       8


Tuesday


 







 12


Wednesday


 





 10


Thursday









 10


Friday











   9


Saturday
           

                 4


Total


  







 53

     Normal working hours 8 hours per day and on Saturday 4 hours. Normal rate `2 per hour. Overtime Upto 9 hours in a day at a single rate and over 9 hours in a day at double rate. Or upto 48 hours in a week at single rate and over 48 hours at double rate whichever is more beneficial to the workers.

—————
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